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L F-FA =1 25 37
1996 g A= 2,658 1,373 343 942
WEFA 21,244 10,863 4193 6,188
1997 T A= 3,224 1,850 332 1,042
WEFA 24 468 12,713 4,525 7230
1998 T A= 4,151 2463 330 1,358
F-FA 28,619 15,176 4,855 8,588
1999 g A= 6,519 4,149 2,100 270
WEFA 35,138 19,325 6,955 8,858
2000 T A= 7,154 4,423 2,492 239
WEFA 42 292 23,748 9,447 9,097
2001 A= 10,301 6,280 3,845 176
WEFA 52,593 30,028 13,292 9,273
002 g A= 16,730 10,487 6,073 170
WEFA 69,323 40,515 19,365 9,443
2003 T A= 16,126 5,319 10,492 315
WEFA 85,449 45,834 29 857 9,758
5004 G A= 19,196 5,044 13,722 430
WEFA 104,645 50,878 43 579 10,188
2005 g A= 25,354 4,421 20,348 585
L FFA 129,999 55,299 63,927 10,773
2006 g A= 33,315 5,055 27,871 389
WEFA 163,314 60,354 91,798 11,162
2007 g A= 45,552 4,445 40,823 284
WEFA 208,866 64,799 132,621 11,446
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QA 11,360 2,955 8,405 2,539 593 1,946 8,783 2,356 6,427 38 6 32
3 30,193 7,649 22,544 4,041 883 3,158 26,013 6,732 19,281 139 34 105
o) A 20,023 5,705 14,318 3,948 1,089 2,859 15,979 4,579 11,400 96 37 59
N 6,141 1,313 4,828 737 153 584 5,387 1,153 4,234 17 7 10
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HE 26,433 7,377 19,056 4,869 1,247 3,622 21,439 6,094 15,345 125 36 89
Kik=y 34,351 9,339 25,012 3,507 826 2,681 30,811 8,501 22,310 33 12 21
e 35,962 10,060 25,902 5,086 1,368 3,718 30,811 8,674 22,137 65 18 47
A 24,700 6,583 18,117 3,522 645 2,877 21,115 5,910 15,205 63 28 35
AT 7,699 2,209 5,490 806 214 592 6,881 1,992 4,889 12 3 9
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